plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain
Rustic / Mahogany

Series Fiberglass Door

INSWING / OUTSWING
"IMPACT"

GENERAL NOTES

1. This product has been evaluated and is in compliance with the 2010 Florida Building
Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone"
(HVHI).

2. Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

3. When used in areas requiring wind borne debris protection this product complies
with Section 1609.1.2 of the FBC and does not require an impact resistant covering.
This product meets missile level "D" and includes Wind Zone 4 as defined in ASTM
E1996 and Section 1609.1.2.4 of the FBC. The sidelite must be protected with an
impact resistant covering that complies with Section 1609.1.2.

4. For 2x stud framing construction, anchoring of these units shall be the same as that
shown for 2x buck masonry construction.

5. Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

FRAME WIDTH 74.00" MAX. FRAME WIDTH

104.50" MAX. O.A. FRAME WIDTH

Documents Prepared By:

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Certificate W’iﬂon No. 9813
2(7r2

Florida Board of Professional Engineers

Ry

82.00" MAX, OVERALL FRAME HEIGHT - INSWING
80.37" MAX, OVERALL FRAME HEIGHT - OUTSWING

PLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN

PRESSURE & GENERAL NOTES

PRODUCT:

BY

TABLE OF CONTENTS

SHEET # | DESCRIPTION

—

Typical elevation, design pressures, & general notes

Door panel details

Sidelite panel details

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Buck and frame anchoring - 2X buck masonry construction

104.50" x 82.00"

7.00" x 63.00"

Frame anchoring - 1X buck masonry construction

Astragal details

Q| IN|~ || a]W]N

s

Bill of materials, components & glazing detail

OUTSWING [104.50" x 80.37"| 7.00" x 63.00"

G1

s
<
O
S
=
2

DATE: 02/16/1

scAE:  N,T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15213.8

sheer _1_oF 10

R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.1- 8.dwg, FL-15213.8

Lynden F. Schmidt, P.E. No. 43409

REVISIONS

© 2012 R.W. BUILDING CONSULTANTS INC.



TON SANVYLTINIENOD BNIGTUNS MM BL D @

BOYEY "ON "I IPIUNDS 4 UOPUAT SNOISIALY
£188 'oN uenezUSliny jo B1ooyien Sy . Bt
siceuibl] [BUOIBSRsOIY JO PIDOT DPYIGL] SKIERISSY 0 Tavd 215 I
LEL6'689°CLE FON Buolg ¥00d SSVIod3ald N E R e
SESED 14 OOMPA 0OFZT %08 "O'd \\SM@ N OMALSYTd o taikg L]
UM CSLNVIINSNOD aMiaundg . ) m NI Nl B
. N b % m
Ag peindeld BIUSLURSOQ LGN & m 5|8 A
oz
Q
&5
[
T
i
{
L ey Sy
Lo Sy gy

INTERIOR

772\ VERTICAL CROSS SECTION

1y tg

L= —=! 85 Alm m

(&) * 25 Sl
o © &} b=

ﬁ.m R ‘iwl MWW

W M| 28

=) : ‘ ®

S
ﬁ ®
m &
- Sl
@ Sl z R
Gl - = &5
®
- ‘ oy i :wm..w i -
o S
O k1Y O L
o & M
LEg m Ping
N7 d § =
= : ¥ i :
. o pils £
. [ g ] ]
S a = B Q0
- mw 213 - U
o o L -~
RN .@ o

.

— i

35.75" MAX,
DOOR
FANEL WIDTH

e |HOEH TANYd 3000 XyW 5T 8L —=

87 Bmpg-TE1ZST-TNOTOZASBUIMRIG DM "A\8ST 44\009T - TOST fosd\siapiod 138fo1d\s10alos4 - v\



‘O] BAMYATINEMOD SINIGHNE ‘ATH BLOE @

BOPCY "ON F'd PHUNDS ‘4 uopuA SNOISIAGY
arel 24 SUWLIC 1INV FUTIAIS A vd JONIN Hlnl 219
CLOG "ON UOHDILOUINY JO SIDOUISD e o
sleoulBU] |DUDIBEBIOIY 1O PIDOE DRI AEHIESY H0 Livd Mm b . O 5
L618'BGE'ELE FON dutud HOO0d SSYI9M3a1 .N, < ) g w 3“
GHUTT Tld OOMIDA 0£Z XoB ‘O'd \S@ N OMAISY TS ol TELE g 1
oML SINVIINSENOD ONITTING . i m 105 i B
1Ay paiodeld sjuswnDo0 SLONG0Nd = M 5 m &
— o
) O
- = .
= ©) 9
£J
]
&y
| w7y
.o g
- X o g
e : L
N ' A %
) Y
> o
r & o it
® O : ?
@ M & @“ M.w\

SIDELITE STILE
Cellular PYC

[ S e

24

30

/1 "\ HORIZONTAL CROSS SECTION

V..sx 851 -?“

/4
/4

SIDELITE STHE
Relnforcement

INTERIOR
EXTERIOR
1.00"

19

Cellular BVC

@ SIDELITE TOP & BOTTOM RASL

-
wm w £
582
= [l
i
m :
): Eqﬁ.i.i. o
£ ﬁ% o m
]
m &)
= b @
m m THOEH O T XYW 0089
20
g [HOEH 1INV NI XYW 6276/

g€ BMP'g-TETZST-1N0TOZ\SBUIMEIQ DaMY "QNL8ST d\009T - TOST fosd\siap|od wefoid\sioalold - yiy



RIA - Projects\Project Folders\proj 1501 - 1600\PF 1587\D, RWBC Drawings\2010\FL-15213.1-.8.dwg, 4.8

1-1/4" MIN.
EMB. [TYP.)

.:

71\ HORIZONTAL CROSS SECTION

eXTERIOR

\4/

Ouiswing shown - inswing
also approved

INTERIOR

@)

7“2\ HORIZONTAL CROSS SECTION

\\32// Outswing configuration

NOTE:

1. Sidelife ponel secured fo the sidelite
frame with {4} of item #22 localed
10, 30.5% 51" and 71.5" from top of
sach jomb ond (2) of lem #2272 in
the head and sill 3" from each end

34

INTERIOR

/7

EXTERIOR
@

INTERIOR .

/& \ HORIZONTAL CROSS SECTION

3
!

i~
\
Y

g
- g I
Ox  Egn
=z mm
=, . [+
P
£%5 5%
Z25om £
SEEn 8 &
J g g2y
= %o 8 h L
[ I N
el -
o O My [
g os ey
A
328252
l..amuwiu—
B 4 L L0
n--—oﬁﬂ
P RaEaE
& ST
5 U
k] E%
[ [
& 8 g
3
@
)
o

Lynden F. Schmidi, P.E. Neo. 43402

‘\f/ Inswing configuration

EXTERION

/"3 HORIZONTAL CROSS SECTION

\\f// Qutswing shown - inswing

oo approved

EXTERIOR ¢

A

/5 "\ HORIZONTAL CROSS SECTION
\U Sheverrs w/ 1Y sub-buck

1/4MIN.
EMB. (TYP.}
. _,.«f\\//
EE co
22)orE T

2

8
G
o
I
N e}
SR 0
=5 7]
)
2% I
E Oy &
s
o8lE
Swlal &
B oo 13 o
. o S
5 gl N
3 © P
)
gl |gT
o W
S
o
2
=z
O
i
o
oy
B
<L
5
[
=
oATE: 02/ 16/12
seale:  NT.S,
OWE B K
CHME, B LFS
DRAWING NO.
FlL.—-15213.8

sueer 4 o 10

@ ZOTE BW. BuiLoiNg DONSUELTANTS N,



O] BANVATIENGD SNIGUNE MH BI0E &

BOPCF CON "Hd IPMUYDS 4 uepud SNOISIAHN
A Ay Wi SNOHOIS SSOMD TvolLNIA A8 A4 ONISY | 1] B19
L6 "ON ULRLZLOWINY IO SIDDYLNDH - et S = w o .
gieaufuy [DUOIEERIOI JO DJIDOE DRMOlY SATHWESSY d0 Ldvd Mm mF. o Lo I
IBLEEEOCLE TON BUSH qO0d SSYIiaMIgd ™ = m m.m 5m
S85EE 4 OSUIA OFZ Xo8 '0'd \S@ “ONI OMAISY ! S iEigg |
O CSSLNYLINSMNOD oMIKing . ] M 51 & ﬂ..:o m
Ag pedndesd SjUBLINDOG LLANG0H W ] M & M i
{"dAL) aw3
NI JF/ 1
[ %4
= e
5 = 2
[
o &
E > o =
A Zl 3 i
R = QIS
S €4 ol 5
= Ly LW IRy
. iV wadl] Lo
T v / Qs ) 3
o ~ Q|2 Yo
: _ G o] 5
S e : u U 2 [ & W
oo b . S % S
x| E|f i mw
® &3
ey (e i
® o b
{"dAl] gwg |
NIW LF/ 11
("dAl) g3
NIW 7/ 11
/.//\A\fem o3
@ f.w_ie\\\//.f/.
g (dALl e/ Cola e
N W |
« X aue z
o = o (3 /| S
HOB = __ o
Z e z _ @5
il 2 o
(o] & D
22 < e
/ & O.m o m
£ oy N !
gp . g § VE
Ule & . W Z
> Mm | Wil
1% .».m &5 & v Q
=GB o
("4 44
: s /@
E E (3 b
= o \A0
£ £ |
(dAl)aws |
nZMW\ﬁ ZW»\MEM

8'G ‘B g-T' 178 T-1OTOZ\SBUIMEIT DIMY "TV8ST 4d\009T - T0ST [osdhstapiog 1sfoid\svefold - vy



K

EXTERIOR ‘ INTERIOR

71\ VERTICAL CROSS SECTION

\U Outswing shown - inswing

also approved

EXTERIOR INTERIORE

1-1/4" MIN.
EMB. (TYP.)

/73 O\ VERTICAL CROSS SECTION

\\U Cutswing configuration

1-1/74" MIN.
EMB. (TYP.)

NOTE:

1, Sidelife pansel securad fo ihe sidslite
frame with {4) of itern #22 locoted
108, 30.5°, 51" and 71.5" from fop of
gach jomb and (2] of tem #22 in
the head and silf 3" from each end

Z
~ =
X
7
EXTERIOR / INTERIOR
7“2\ VERTICAL CROSS SECTION
\\é/ Shown w/lX sub-buck
INTERIOR EXTERIOR

" SEE
NO"E’EF

EMB. [TYP.)

IR

Mo, 2813
Lyndon F. Schmidt, P.E. No. 43409

P.O. Sox 230 Valrigo FL. 33595
813.652.8187

BUILDING COMSULTANTS, iNC.

Documenis Prepared By:

Phone Mo
Flerida Board of Professiongl Enginsers

Certificate ? Authorizatis

PLASTPRO INC
FIBERGLASS DOOR

PART _OR ASSEMBLY:
VERTICAL CROSS SECTIONS

PRODUCT:

1-1/4" MiN.
EMB. (TYP.)

NOQJ DATE

/& \ VERTICAL CROSS SECTION
W Inswing configuration

oaTE: 02/16/12

scat:  NUT.S

WG, BY: JK

CHEL BY: LFS

DRAWING NO.:
FL-15213.8

sueer 6 OF 10

RAA - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.1-.8.dwg, 6.8

REVISIONS

@ HLOTE BW, Bunioing TOoNSULTANTS NG,



R1A - Projects\Prelact Folders\prol 1501 - 16000\PF 1587\D, RWBC Drawings\2010\FL-15213.1-.8.dwg, 7.8

—— ] 8“ -
o [ A"
R 4“
A “;"Mf ijf
ﬁ:':;"‘j ™ I [‘g i Tt T
o i it T
Bk ' i ,“.
e - I 1 %
s " TYP. HEAD & JAMBS || f
faia
1l l e
2X m\\\\\%_ ﬂ ﬁm////ﬂ“ =5
HI Hi &z
BUCK N n ASTRAGAL & i Z
= 1 MULLIONS it 4]
Hi SHOWN FOR 1
i REFERENCE i
ONLY
MASONRY || Hi | Hi I
OPENING il ! ft B
-t i IE i
N il n i
{1 ! it
e n g jt 1
Sl UL o
BUCK ANCHORING
CONCRETE ANCHOR NOTES:

71.96"

HINGE JAMB

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance ond cenler distance requirements.

2. Concrefe anchor locations of the comers may be adjusted to mainiain the min. edge
distance o mortar joints, § concrete anchor locotions noted as "MAX, ON CENTER" must be
adjusted fo maintain the min. edge distance to mortar joints, addifional concrete anchors
may be required o ensure the "WAX. ON CENTER" dimensions are not exceeded,.

3. Concrete anchor fable:

W 1/4" 1-1/4" YT 3"
ELCC LS 1147 1" 4
W 3/16" 11/ 2-5/8° 23/4"

o

e

-h.i

£

TYP.HEAD &

Fi,11
&\T{
Il

SEE DETAIL 2

e

o

6'7
H

12" MAX,
O CENTER

3! P

3;3

R S —— i—-@—%

ASTRAGAL STRIEE JAME

DETAIL ¥

i TYP( 38
JAMBS ot
- i ASTRAGAL
ll SHOWN FOR
» Il REFERENCE
I ONLY
I
MASONRY_. = - Qaﬁswmf_‘; Eé
OPENING 1 ) i
s - (7)NswinG
TP @SIL | SEE DETAILS
s o 2 T&1A
g Al ] il
ERAME ANCHORING
kMasonry 2X buck construction
S
DETAIL 1A
Outswing configuration
/ /
&

EATCH & DEADBOIT DETAIL

£
HINGE DETAIL

nswing configuration

BEIALZ

?..{-7.('2__"_

iy
& b &
2 2w 3
-4 @
um £ )
z [ A
= a5 .
= i 1T o
e g 4
Z8a 2-
Eew gy M
S g0 R, o
2 5oy @ .
B2 et oF
Zowm BT 3
e O3F by E
20 o vy B
= ¢ 500 3
ﬁ%szc’{x}m
5 5%¢epsY u
E 256 9
EFHETEE
L. 3 'g
I
o T
& [V 1
5
o
5]
o

PLASTPR(Q INC,
FIBERGIASS DOOR

PART OR ASSEMBLY:
BUCK & FRAME ANCHORING 2X

BUCK MASONRY CONSTRUCTION

PRCDUCT:

BY

REVISIONS

NOJG  DATE

oatE: 02 /16/12

SCALE:  NUTLE.

WG, S

CHE, B LFS

IRARING NOL
FL—-152138

sHeer 7 oF 10

@ a0 RW. B oimE DoMSLLTANTE (M.



R:VA - Projects\Project Folders\oroj 1501 - 1600\PF 1587\D. RWRC Drawings\2010\FL-15213.1- 8.dwg, 8.8

40.?] 1]
948"

71.94"

HINGE JAME

CONCEFTE ANCHOR NOTES:

1. Substiiution of equal concrete anchors from a different supplier may have different edge

2 §n

¢ E =

g .awg'\
- [
n,fosmé :

s

EQWEZM
£ 22 C
e O &
Jpg g 2
D e, B8y
2”283
& Cw o

o O3OF L&

S 0o B2

o g . 3

u%gzoq\)

E EBg W e

[+ 3 = ]

e =g & 9

ERIE &g

i g g

g2

B ok

& TP

& Qg

I [

5

&

&

€3

Lyndon F. Schmidt, P.E No. 43408

o rmg*" o ““37 e 3
= ¢ { | | -
NI o | i I
! T
o TYP. HEAD & I
/ JAMBS Il
1% 1 A
BUCK — _ ’ - __T %
1 ASTRAGAL J
I SHOWN FOR © g NS . .S
FRAME | - I REFERENCE ONLYE — — < 5 )
%
| j B)—7
MASONRY |1 OUTSWING :E ' - DETAIL 2
OPENING | 3 ‘.
) ~ (7)) MNewiG i 50 °
Dy . SEE DETAILS =&
s TYP. @ SiLL [ y/—
1 (23)
éat.-;; Pyl | | i
s XQ?Q\ R
FRAME ANCHORING ASTRAGAL STRIKE JAME AA#;W

distance ond center disfances requirements.

2. Concrete anchor locations at the corners may be adjusted o mainfain the min. edge

Kasonry 1X buck construciion

disfance to morfar joints. if concrete anchor localions noted as "MAX, ON CENTER" must be

adiusted fo mainiain the min, edge distonce to morlar joints, addiffonst concrete anchors

may be required 1o ensure the "MAX, ON CENTER” dimensions are noi exceadesd,

3. Concrete anchor fable:

W /4"

1-1/47

2.3/

3“

11 /14"

E“?! o

2-5/8"

214

HINGE DETAIL

.QEE

s -
Y
27
/4
(4
DETAIL T DETAHL 1A LATCH & DEADBOLT DETANL

Inewing contiguration

Outswing configuration

PLASTPRO INC.
FIBERGLASS DOCR
PART OR ASSEMBLY:

PRODUCT:

FRAME ANCHORING 11X BUCK
MASONRY CONSTRUCTION

BY

REVISIONS

NOJ DATE

bavE: 02/ 16/12

seME NUTS.

pwe. 8y JE

CHK. By LFS

DREWING NO.:
FL—~15213.8

sueer B oF 10

© 2013 B.W. BULOING DONSULTANTE IMG.



O BLNYATTREMNGD BNIONTIE WY SL0E o3

éaiwmgnw Op T PSS 4 uopuAl SNOISIAGT
s TR SUVITA WOvHISY A8 Sl _TONIS) elol 219
SL9E "ON UCHDZUOWMY ) SIDOURIED AL it
giebuiBUT 1DUOIEERIOL JC PIDOT OPLIOL "\r.de‘mwm._( o0 LHvd wm b oy 1B
LBLEBGOTLY "ON BUDU HOOJ SSY1OMA4I Pk guw 9_
S6SEE 14 OSLIDA 07 ¥08 0°d \ﬁ% DNt OMeliSYd Sl 1gigle
“ONI ‘SINVLINSNOD INIGING . G m & i ks
hg pespdeld EsINSOg <LONG0N & m M W s
e :Nwww h— H%
=
ek
WOLIOT m °
Sy
W [ap]
%i“ w ﬂ
L) w M
a t _ m
5 e
- o
= v P
g L
B 4
T L 3 - 3
O * N &
o g E
- : "
= o4 o
= f W
s o
O DA IS g
Jor Lok
<1
)
O
¢ P
=
&
&
o cap W ¥
JO - 1RE] .
B 9 [ o e
# B ot & .
° e ] —wl s G180
<. 2
0 anl o Aw 5
ST o/ Ei m
. = m B
w. & = 5 <
K 3 X £
o o = £
@ = .
— m L2
2 2 3
5 = e ... 2
T - g
& =
L &
= * i ﬂ %)
3 Yy
D fa8
< O
]
i
[
3
™
) b
g
2
1 mm
= D
Ik N 35
I ke - =5
i o 32
nL i § S
401 <=
®

86 ‘BMpg-TE1ZST-TN0TOZSBuIMeI] DAMY "T\L8ST 4d\009T - T0ST foud\siapiod pafaig\sidalold - yiy



R:\A - Projects\Prolect Folders\pro] 1501 - 1600WPF 1587\D. RWBC Drawings\2010W\FL-15213.1-.8.dwg, 10.8

BILL OF MATERIALS

S

ITEM| DESCRIPTION MATERIAL | ITEM| DESCRIPTION MATERIAL Q‘./
N |3/16" X 3-1/2° PFH ITW CONCRETE SCREW STEEL 23 | #9 x 2" PFH WOOD SCREW STEEL 2 £.or8
O |3/16" X 1-1/2" PFH ITW CONCRETE SCREW STEEL 24 | FLUSH BOLT STRIKE PLATE STEEL g5 S8 %
P | 3/16" X 3-1/4" PEH MW CONCRETE SCREW STEEL 25 | TOP RAIL CELLULAR PVC 4T g & \ $
1 | MASONRY - 3,192 PS| MIN. CONCRETE CONFORMING TO ACI CONCRETE |26 { SIDELITE STILE CELLULAR PVC 28 S

301 OR HOLLOW BLOCK CONFORMING TO ASTM C30 27 | STRIKE PLATE STEEL S8 BaY ™
2 | 1XBUCKSG >=0.55 WOOD 28 | OUTSWING BUMP THRESHOLD ALUM./WOOD | | Zga 58l E
3 | 2XBUCK SG >=0.55 WOOD 29 | DEADBOLT STRIKE PLATE STEEL B xs.5lTs
4 | 1/4" MAX. SHIM SPACE - 30 | LP LITE ODL/WESTERN REFLECTIONS HP POLYPROPYLENE | [B Zd s , g\")u:
5 11/4"X2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL 31 | #9 x 1" PFH WOOD SCREW STEEL §3d28, ¢
6 | #10x2-1/2" PFH WOOD SCREW STEEL 32 | 1/4" X 3-3/4" PFH TW CONCRETE SCREW STEEL . § 8 E
7 | 1/4"x2-1/4" PFH TW CONCRETE SCREW STEEL 34 | ASIRAGAL BY ENDURA ALUM, g TE T
8 | #9 x 3/4" PFH WOOD SCREW STEEL 34A | BOLT RETAINER PLASTIC 5 & =9
9 | DOCR SKIN {MIN. 0.075" THICK) FIBERGLASS | 348 | SLIDE BOLT ROD STEEL &
10| INSWING VINYL DOOR BOTTOM SWEEP BY ENDURA VINYL 35 | HINGE & LATCH STILE CELLULAR PVC %

10A | VINYL DOOR BOTTOM SWEEP #3628 BY HOLM IND. VINYL 36 | HINGE & LATCH STILE REINFORCEMENT LVL Z
11 | REINFORCEMENT WOOD FOR LOCK WOOD 37 | SIDELITE TOP & BOTIOM RAIL CELLULAR PVC g
12 | INGER JOINTED PINE JAME WOOD 38 | SHOE MOULD 5/8" x 3/8" WOOD & 33
13 | #9 x 2-1/4" PFFH WOOD SCREW STEEL 39 | SIDELITE SPACER PVC 28 Sk
14 | BOTIOM RAIL CELLULAR PVC | 43 | 1/4"x 2-3/4" PFH ITW CONCRETE SCREW STEEL oflsy Yo
15 | INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD | 44 | GLAZING SPACER ALUM. £33 S

15A | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM, fWOOD | 45 | SEALANT SILICONE gg ﬁ Eé
16 | FORCE 5 WEATHER STRIPPING BY ENDURA FOAM 46 | GLAZING COMPOUND SIICONE L TEE =y

16A | COMPRESSION WEATHER STRIP GLON 650 BY SCHLEGEL FOAM 47 | #8x1-1/2" PFH LITE FRAME SCREW STEEL 5 &S
17 | KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL 50 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS - S E o
18 | KWIKSET DEADBOLT - SIGNATURE SERIES {780) STEEL 40 | SIDELITE PANEL - SEE DOOR PANEL DETAIL SHEET 3 - a of ©
19 | SIDELITE STILE REINFORCEMENT WOOD 5
20 | POLYURETHANE FOAM BY NANYA POLYURETHANE 56 = 455 - 2
21 | 4" % 4" BUTT HINGE STEEL ) ‘ - 1 ' =
72 | #6x 2 PFH WOOD SCREW STEEL 2 j ¥ |

: ] !
: g
50" GLASS BITE a 0
- T | % :
1.000" NOM. 5 o
: GLASS THK. & e 237 =] 72 OUTSWING BUMP THRESHOLD e
o, IR 1/8" TEMP. 3
= - G{A - =
o AlR
S SPACE "
S T SECORATIVE INSERT 5
—— 2
B SPACE
= N /8" TEMP. owE 02/16/12
GLASS seaE: MNUTLS.
P ADJUSTABLE INSWING SILL s B K
@ ADJUSTABLE INSWING Si1L 15 o o IFs
7 DRAMING WO
ol GLATING DETAL Fle15213 8

suzer f0 oF 102

8 8018 RW. BULDNG DOMBLLTANTS (MG,



